THE BIG CHALLENGE 2007
LEVEL 1

1o, am at school.
(A) he (C) we
(B) I (D) they

The correct answer is B.
| am at school.

2. The book ............... on the table.
(A) it (C)am
(B) are (D) is

The correct answer is D.
The book is on the table.

K S is my favourite colour.
(A) Five (C) Green
(B) Read (D) Desk

The correct answer is C.
Green is my favourite colour.

4o i, the dogs in the park?
(A)Is (C) Are
(B) Where (D) What

The correct answer is C.
Are the dogs in the park?

5. “What .....c.ccevvennns ?” “It's Peter Harris.”
(A) are you (C) your name
(B) is your name (D) is it a boy

The correct answer is B.
“What is your name?” “It's Peter Harris.”

6. Five + SIX = .o
(A) eleven  (C) thirteen
(B) twelve (D) seven

The correct answer is A.
Five + six = eleven



7. “How are you?” ... 7
(A) I'm John (C) Fine, thanks
(B) I'm at school (D) I'm English

The correct answer is C.
“How are you?” “Fine, thanks”.

8. ” “Six and a half.”
(A) How old is she? (C) Who are they?
(B) What time is it? (D) Where are you from?

The correct answer is A.
“How old is she?” “Six and a half.”

9.1like oo, car.
(A) your sister (C) my sister's
(B) sisters' (D) my brothers

The correct answer is C.
I like my sister's car.

10. Her DIKE 1S .ovveeeiieiiicceeee
(A) in my pocket (C) not very well
(B) very old and dirty (D) very friendly

The correct answer is B.
Her bike is very old and dirty.

11, e is in Scotland.
(A) London (C) New York
(B) Edinburgh (D) England

The correct answer is B.
Edinburgh is in Scotland.

12, 7 “No, it isn't.”
(A) Is Peter here? (C) Is the sky green?
(B) Where is my book? (D) Is your mother at home?

The correct answer is C.
“Is the sky green?” “No, it isn't.”



13. 1 know John's ......cccceeevunnee. She's called Patricia.
(A) brother  (C) son
(B) daughter (D) grandfather

The correct answer is B.
| know John's daughter. She's called Patricia.

14. Three .....ccocvvveeenee, are in the garden.
(A) flower  (C) policeman
(B) woman (D) men

The correct answer is D.
Three men are in the garden.

15. There are thirty-one ..........ccocvcvvivieiennenn
(A) weeks inJuly  (C) months in a year
(B) hoursinaday (D) days in December

The correct answer is D.
There are thirty-one days in December.

16. We have science ............. Mondays and Fridays.
(A) at (C)to
(B) the (D) on

The correct answer is D.
We have science on Mondays and Fridays.

17. The English Channel is between England and ..............
(A) France  (C) the USA
(B) Ireland (D) Norway

The correct answer is A.
The English Channel is between England and France.

18. in bed?” “Because I'm not very well.”
(A) Why you (C) Why are you
(B) Areyou (D) Have you

The correct answer is C.
“Why are you in bed?” “Because I'm not very well.”



19 s to the dialogue and answer the questions.
(A) Listen  (C) Look
(B) Read (D) Speak

The correct answer is A.
Listen to the dialogue and answer the questions.

20. Our house .........ccceun... three bedrooms.
(A) thereis  (C) has got
(B) have (D)isin

The correct answer is C.
Our house has got three bedrooms.

21. The opposite of “easy” IS “.......ccccvvvrrvervennns ”
(A) unhappy (C) hard
(B) poor (D) sunny

The correct answer is C.
The opposite of “easy” is “hard”.

22. For breakfast, | have a bowl of ....... with milk and sugar.
(A) sausages (C) cereal
(B) fish and chips (D) baked beans

The correct answer is C.
For breakfast, I have a bow! of cereal with milk and sugar.

23, 7 “Sorry, | haven't got a watch.”
(A) What's the time? (C) What's for lunch?
(B) What's on television? (D) What can you see?

The correct answer is A.
“What's the time?” “Sorry, | haven't got a watch.”

24, i four windows in the classroom.
(A) There are (C) There is
(B) Weare (D) It has

The correct answer is A.
There are four windows in the classroom.



25, ” “No, it's only two pounds.”
(A) Is it expensive? (C) It's cold, isn't it?
(B) How much is it? (D) Is it late?

The correct answer is A.
“Is it expensive?” “No, it's only two pounds.”

26. The letter “i” rhymes with .................
(A) buy (C) boy
(B) tea (D) see

The correct answer is A.
The letter “i” rhymes with buy.

27.USe your .......cccccoenen. and draw a straight line.
(A) sock (C) ruler
(B) pencil case (D) glue

The correct answer is C.
Use your ruler and draw a straight line.

28. i, have an ice-cream, please?
(A)Havel (C)Canl
(B) Areyou (D) AmI

The correct answer is C.
Can | have an ice-cream, please?

29. Chocolate eggs are associated With .............cccceeveeinnnns
(A) Christmas (C) Easter
(B) Halloween (D) New Year's Day

The correct answer is C.
Chocolate eggs are associated with Easter.

30. Excuse me, ....cocevveinnnn a post office near here?
(A)isit (C) where is
(B) is there (D) what's

The correct answer is B.
Excuse me, is there a post office near here?



31. “Their” doesn't rhyme with .......................
(A) hair (C) wear
(B) hear (D) they're

The correct answer is B.
“Their” doesn't rhyme with “hear”.

32, sausages are there in the fridge?
(A) Are there (C) How many
(B) Do you want (D) How much

The correct answer is C.
How many sausages are there in the fridge?

33 go to school in London.
(A) She (C) My English friend
(B) My brother (D) Jenny and |

The correct answer is D.
Jenny and I go to school in London.

3. was a queen of England.
(A) Victoria (C) Juliana
(B) Theresa (D) Camilla

The correct answer is A.
Victoria was a queen of England.

35. Peter ............... wear his school uniform at weekends.
(A) always  (C) like
(B) don't (D) doesn't

The correct answer is D.
Peter doesn't wear his school uniform at weekends.

36. Where ................ she live?
(A) has (C)do
(B) does (D) is

The correct answer is B.
Where does she live?



37. Complete the “family” of words: lamp, bed, shelf, ........
(A) chicken (C) cupboard
(B) crossroads (D) grocer

The correct answer is C.

cupboard

38. English children ....................... to school on Saturdays.
(A) always go (C) are never
(B) haven't got (D) never go

The correct answer is D.
English children never go to school on Saturdays.

39. Pronunciation: “bedroom” =0 0; “.................. ”=00.
(A) orange  (C) repeat
(B) yellow (D) listen

The correct answer is C.

“repeat” =0 O.

40. The Queen lives in Buckingham Palace, ..................... ?
(A) doesn't she (C) is she
(B) isn't it (D) isn't she

The correct answer is A.
The Queen lives in Buckingham Palace, doesn't she?

41 We ..o, home at 4 o'clock.
(A) goto (C) come
(B) cometo (D) go at

The correct answer is C.
We come home at 4 o'clock.

42.Put ............... biscuits on the plate, please.
(A) them (C) of
(B) any (D) some

The correct answer is D.
Put some biscuits on the plate, please.



A3, is a very old castle in London.
(A) Stonehenge (C) The Tower of London
(B) Big Ben (D) Tower Bridge

The correct answer is C.
The Tower of London is a very old castle in London.

44. We can't sit down because there .............c....... chairs.
(A) isn't any (C) aren't any
(B) are some (D) haven't any

The correct answer is C.
We can't sit down because there aren't any chairs.

45. “Have a piece of cake!” “No thanks, I ........... hungry.”
(A) haven't got much (C) am not very
(B) don't have very (D) can't have any

The correct answer is C.
“Have a piece of cake!” “No thanks, | am not very hungry.”

46. He's got shortred ..o and big ears.
(A) eyes (C) moustache
(B) hair (D) hairs

The correct answer is B.
He's got short red hair and big ears.

47. “Is Jim in the living-room?” “Yes. He ................. TV.”
(A) looks at (C) is watching
(B) is looking (D) watches

The correct answer is C.
“Is Jim in the living-room?” “Yes. He is watching TV.”

48. .., is about 50 euros.
(A) £3.40 (C)£34
(B) 34p (D) £340

The correct answer is C.
£34 is about 50 euros.



49. This isn't my bag, and it isn't yours. So ............... is it?
(A) how's (C) where
(B) whose (D) who

The correct answer is B.
This isn't my bag, and it isn't yours. So whose is it?

50. What is the capital of Northern Ireland?
(A) Glasgow (C) Belfast
(B) Dublin (D) Aberdeen

The correct answer is C.
Belfast.

51. *“Horse” rhymes With ...........c.ccccevuenne.
(A) course  (C) cows
(B) doors (D) boss

The correct answer is A.
“Horse” rhymes with “course”.

52. It's a lovely day today, SOWe ..........ccccueneee. the beach.
(A) going on (C) are going to
(B) don't go to (D) let's go on

The correct answer is C.
It's a lovely day today, so we are going to the beach.

53. Don't wear those jeans! Go and ........... your new dress.
(A) takeon (C) puton
(B) turn off (D) take off

The correct answer is C.
Don't wear those jeans! Go and put on your new dress.

54. Where in London is the statue of Admiral Nelson?
(A) Piccadilly Circus. (C) Oxford Circus.
(B) Trafalgar Square. (D) Hyde Park.

The correct answer is B.
Trafalgar Square.



